
® 

Sensor Mounting Shelf Installation
For more information, see your UV and Solar Sensor User Manual
Components

#10-24 x 7-3/4" Screws

#10-24 Nuts

4" Cable Ties

#10 Lock 
Washers

Support
Tubes

#10 Flat
Washers

Place a support tube on each of the outside mounting holes at the front of the rain collector base.

Place a lock washer and a flat washer onto one 7 ¾” screws.

Locate the support tube mounting 
holes in the shelf. 

Insert the screw through the hole in the shelf, tube, and through the hole in the rain collector 
base.

Place a nut in the opening of the hexagonal recess on the underside of the rain collector base.
Turn the screw until the assembly is loosely held together.

Repeat with the second support tube.

On the underside of the shelf, verify that the tops of both support tubes are inside the circular 
recesses in the shelf.

Tighten both support tubes.

Holes for Support Tube Screws 

Three Holes for Sensor Screws Three Holes for Sensor Screws 

1.

2.

3.

4.

5.

6.

7.

8.

#10-24 Nut

Rain Collector
Base

Shelf

Support Tube

#10 Flat Washer
#10 Lock Washer

#10-24 x 7-3/4" Screw

Learn more about weather radios and stations we have.

https://www.recreationid.com/davis-instruments/
https://www.recreationid.com/weather-radios-stations.html

